New Calculus 8.2

f: f(x)dx is the area between the curve and the x-axis over the interval a to b.

fab(f(x) — g(x))dx is the area between the curves over the interval a to b.

Find the area between the curves y = sec?x and y = sinx fromx = 0to x = %.
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J§(sec?x — sinx)dx = tanx + cosx| r=1+2_0-1=2
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Find the area between the curves f(x) = x% and y = 4x in the first quadrant.

The curves intersect at x = 0 and x = 4.

Yx — D)y = 2x2 _ | h gy 64 _ 32
f0(4x x?)dx = 2x 30—32 — ==

Find the area of the region enclosed by the parabola y = 2 — x? and the line y = —x.
2—x2=-x 0=x*—-x-2 0=x-2)(x+1
The curves intersect at x = —1, 2.
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Find the area in the first quadrant that is bounded above by y = v/x and below by the x-axis and
the liney = x — 2.

Draw the graph.
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